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Summary Plots 1: ADC vs event number
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Summary Plots 2: ADCs PPM noise floor at max 7V signal
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Sumramry Plots 3: (PPM noise floor at max 7V signal) w.r.t. vqwk 04 Och O
1084 x10

RPN ] wopemmpspevee— Entries 6683 SO ] opeempp— Entries 6683
B Mean x 9.312e-10 B Mean x 5.331e-10
5 Meany  9.312e-10 5~ Meany -1.928e-08
B Std Devx 1.66e-06 B ] Std Dev x 1.659e-06
o StdDevy 1.66e-06 o g StdDevy 1.576e-06
-5 L -5
1ol . . x10® L . . . x107°
1975 -5 5 10 1975 -5 ) 5 10
10° - 10° -
B roreremppprmmrrs { Entries 6683 | e O Entries 6683
r {1 Meanx -1.086e-09 B s Mean x 1.198e-08
5 i Meany  9.887e-09 5~ Meany -3.153e-08
r Std Devx 1.66e-06 r Std Dev x 1.599e-06
o Std Devy 3.232e-06 U Std Devy 4.251e-06
—5 — B ’ —5 —
1ol - . x107 1oL e - x10°°
195 -5 5 10 195 =5 0 5 10
10° - 10° -
SRS ' popurmppsprermemmm— Entries 6683 B  opermrrerperemmes ] Entries 6683
- Mean x 1.13e-09 - | Mean x 5.52e—09
5 ] Meany  5723e-09 5= 1 Meany -1.227e-07
B J Std Devx 1.66e-06 B 3 Std Dev x 1.637e-06
0 - Std Devy 1.562e-06 o : Std_Dev y 2.673e-06
51— 51— 7
L , \ x10° 1oL , \ x10°
) -5 5 10 1975 -5 ) 5 10
107 - 10° :
e 2O Entries 6683 | oo 20— Entries 6683
r T Mean x 6.842e-12 B Mean X 1.403e-09
5= Meany -8.078e-08 5= Mean y 0
B Std Dev x 1.637e-06 B Std Devx 1.66e-06
o Std Devy 2.726e-06 U e Std Dev y 0
_5 — - _5 —
1ol . . x10° 1oL , . . x10°
1975 5 3 10 1975 5 ) 3 10




	Contents
	Page 1
	Page 2
	Page 3
	Page 4


